INITIAL ASSESSMENT MATH TEST

Class V
· For the correct solving of the requirements in  Part I and Part II , 90 points are awarded. 

             Ex-officio 10 points are awarded.
· All topics are required. The actual working time is 45 minutes.

PART I
      For exercises 1 and 2 write only the results. For exercise 3, write (T) if the sentence is true and (F) if the sentence is false.                                                                         (45 points)
20p    1. Calculate: a) 8042 + 988 ; b) 3006 – 537 ; c) 105 × 98 ; d) 2456 : 8
  5p    2. Find the number which is smaller with 157  than 2011.
          3. Write T or F.
  5p         a) The reverse number of  2012  is 2102.
  5p         b) The smallest number having three distinct digits is 123.
  5p         c) The number twice smaller than  216  is 18.
  5p         d) 88  is the number which divided by 5 equals 17 and the remainder is 3.
   PART  II        
         The following problems require complete solutions.                                    (45 points)
15p    4. Calculate: 
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          5. Find: 
   7p        a) the quarter of the number 416;
   6p        b) how much  bigger is the product of numbers 18 and 14 than their difference;
   7p         c) number b in 
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 10p   6. In three crates there are 200 apples in total. If 10 apples were moved from the second create to the first, the two crates would have the same number of apples. If 20 apples were moved from the third crate to the second one, the two crates would have the same number of apples. How many apples are there in each crate?
INITIAL ASSESSMENT TEST
5TH GRADE
ANSWER SHEET AND GRADING SCALE
PART I                                                                                                                                   (45 points)

( Only the result is scored, as follows: for each answer, either the maximum score or 0 points are given for each requirement.

• No intermediate scores are given.
	Nr. item
	1.a)
	1.b)
	1.c)
	1.d)
	2.
	3.a)
	3.b)
	3.c)
	3.d)

	Results
	9030
	2469
	10290
	307
	1854
	T
	F
	F
	T

	Points 
	5p
	5p
	5p
	5p
	5p
	5p
	5p
	5p
	5p


PART II                                                                                                                                  (45 points)

(For any correct solution, even if it is different from the one in the answer sheet, the corresponding maximum score is awarded.
( No point fractions are given, but intermediate scores for partial solutions can be awarded, within the limits indicated in the grading scale.
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	5.
	a) 416 : 4  = 104
	3p

4p

	
	b) 
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	c) 
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	6.
	in the second crate there are 20 apples more than in the first crate
in the third crate there are 40 apples more than in the second crate

graphic representation
in the first crate there  are [200 – (20 + 20 + 40)]: 3 = 40 (apples)
in the second crate there  are 40 + 20 = 60 (apples)

in the third crate there are 60 + 40 = 100 (apples)
	1p
1p

3p

3p

1p

1p


(Any other correct solution is scored with the maximum score corresponding to that problem / exercise.

• 10 points are granted ex officio.

• The final grade is calculated dividing the total score by 10.
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